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eaa MODRTH pa s 2bagrs (esn 0CTAThKD; 32 NPUM.
aneaa 40, 60 n 30 muwTe 0dngpr Abawrean 2, 3 n 10,
5a4T0-T0 BCHYKLI THIM MOPARTH A4 €A ABAATH HA THIA
qucaa 6ess ocrarvrb. [o-roabmo orb 10 Beyb HbMma
APYFO HIC.10, HA Koe-10 A2 Obixd ca pbawan n 40 u 60
n 30; raka nanp. 40 n 20 ca pbasare ounge Ha 20, a
30 ca ne abam na 20; 60 u 30 ca pbaars na 30, a
40 ca ne abam. Taka 10 e oburn pbanreab Ha yucaa
40, 60 u 30 n saegHo ¢b TOBA Hait-20a8um, T. €. 1O~
roabNL 01Tb HEro wbyMa Beub Apyrb AbauTedb. U raxka
o0wn naii-20a0me gbavuwear wa wbroako Aapendl wu-
CAU CA HAPUNA HAT-202TM0-T00 WS WHA UUCAL, HA
ROU-UI0 BCUURBL AAACHBL YUCIA HOZRWH Ad CA ADAAWH
Gess ocmamsry.

Ja upuwbpb A2 HaNBPUMDL  BAl-TOABMBLL  00NID
Abanreas na yueaa 180, 270, 360. 3a moBa aa rbi
Pasa0KUND HA TPLBOHAYANHBI-TBI UMD MHOKUTEAN, H'
MEWD H0AYYUMD:

180=1X2X2X3X3X5
270=L3¢2 X3 X3 35
360—=IX2x2X2%X3X3X5

/A2 B3eMeNs 0ONEbI-THI IPOUSBEAUTECAN, T. €. TAKBIBLL,
KOM-TO ¢ HAXO/KAATH BH BCHYKBI Thig wmcaa: 1, 2, 3,
3, D um aga ror npbymHomuws: 1 X 2X3x3X5=90:
ToBa aucao 90 me u ja ddjpe 06ms Hal-roabNDL Aban-
reap Ha yneaa 180, 270, 360.

77. Haxompanie obmbi Abanreab 4pbsh pasaaranie
4MCAA-T2 HA HPOCThE ABANTENN € MBHYHO M HPOANbIKH-
TEeAH(, 3aPAAY TOBA RAMUPATH 1'0 4pb3H NOCABAOBATEAHO
ABaegie, Ha Koe-To Hali-POCTO-T0 NPABHAO € TOBA:

3a qa naitgens ofupii nait-coanas g0 wme.as
xe 466 aaaenve wucaa, wpbiosa wi-2046.m0-wo UKCAO
AQ PAIADAUNMT HA WO-Ma1K0-100 ; NOC.AT UO-HAIKO~U0 KA
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